
NTERMEDIATE EXAMINATION 2020 (ANNUAL)

MODEL SET

Physics ¼HkkSfrd 'kkL=½

Instructions for the candidates :-

1. Candidates are required to give answer in their own words as far as

practicable.

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa mÙkj nsaA

2. Figure in the right hand margin indicates full marks.

nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA

3. 15 Minutes of extra time has been allotted for the candidate to read

the question carefully.

bl iz'u i= dks /;kuiwoZd i<+us ds fy;s 15 feuV dk vfrfjDr le; fn;k x;k

gSA

4. This question paper is divided into two sections: Section-A and

Section-B

;g iz'u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c

5. In Section A, there are 42 objective type questions,  (each carrying

1 mark), out of which ony 35 questions are to be answered. If more

than 35 questions are answered, only first 35 question will be

evaluated. Darken the circle with black or blue ball pen against

the correct option on OMR-Answer Sheet provided to you. Do not

le; % 3 ?kaVs 15 feuV
Time : 3 Hours 15 Minutes

iw.kkZad & 70
Full Marks - 70
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use Whitener/Liquid/Blade/Nails etc on OMR-answer Sheet

otherwise the result will be invalid.

[k.M&v esa 42 oLrqfu"B iz'u gSa] buesa ls fdUgha 35 dk mÙkj nsa] ¼izR;sd ds fy, 1

vad fu/kkZfjr gS½A 35 ls vf/kd iz'uksa ds mÙkj nsus ij izFke 35 iz'uksa dk gh ewY;kadu

gksxkA budk mÙkj miyC/k djk;s x;s vks ,e vkj&mÙkj i=d esa fn;s x;s

lgh fodYi okys o`Ùk dks dkys ;k uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj

@rjy inkFkZ@CysM@uk[kwu vkfn dk mÙkj iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk

ijh{kk ifj.kke vekU; gksxkA

6. In section-B, there are 18 short answer type questions (each carrying

2 marks), out of which only 10 (ten) questions are to be answered.

Apart from this, there are 06 long answer type questions (each

carrying 5 marks), out of which 3 questions are to be answered.

[k.M&c esa 18 y?kq mÙkjh; iz'u gSa ¼izR;sd ds fy;s nks vad fu/kkZfjr gS½] ftuesa ls

fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSAblds vfrfjDr] bl [k.M esa 06 nh?kZ

mÙkjh; iz'u gSa ¼izR;sd ds fy;s 5 vad fu/kkZfjr gS½] ftuesa ls fdUgha 3 iz'uksa dk mÙkj

nsuk gSA

7. Use of any electronic appliance is strictly prohibited.

fdlh rjg ds bysDVªkWfud midj.k dk mi;ksx iw.kZr;k oftZr gSA



SECTION-A (Objective Type Questions)

[k.M&v ¼oLrqfu"B iz'u½

In the following questions no. from 1 to 42 have four options; out of

which only one is correct. You are required to answer any 35 questions.

You have to mark your selected option on the OMR-Sheet.    (35x1=35)

fuEufyf[kr iz'u la[;k 1 ls 42 rd ds izR;sd iz'u ds mÙkj ds pkj fodYi fn, x,

gSa] ftuesa ls ,d lgh gSA vkidks fdUgha 35 iz'uksa dk mÙkj nsuk gSA vius }kjk pqus x, lgh

fodYi dks OMRmÙkj i=d ij fpfUgr djsaA      (35x1=35)

1- fdlh vkosf'kr [kks[kys xksys ds vanj fo|qr&{ks= gksrk gS

A. 1 B. 'kwU;

C. vuar D. _.kkRed

The electric field inside a charged hollow sphere is

A. 1 B. Zero

C. Infinite D. Negative

2- 1 oksYV ls vkosf'kr 1F /kkfjrk okys la?kkfj= ij dqy vkos'k gksxk &

A. 'kwU; B. 1C

C. 1C D. vuar

Charge on a capacitor of capacity 1F connected to a source of 1

volt will be

A. Zero B. 1C



C. 1C D. Infinite

3- /kkjkokgh pkyd ds vanj bysDVªkWu dh xfr gksrh gS

A. le:i B. Rofjr

C. vilkfjr D. voeafnr

The motion of electron inside a current carrying conductor is

A. Uniform B. Accelerated

C. Drifting D. Decelerated

4- fdyksokV&?kaVk ¼Kwh½ ek=d gS

A. fo|qr 'kfDr dk B. fo|qr ÅtkZ dk

C. cy&vk?kw.kZ dk D. fo|qr /kkjk dk

Kilowatt-hour (Kwh) is unit of

A. Electric Power B. Electric Energy

C. Torque D. Electric Current

5- ysat dk fu;e fdl laj{k.k fl)kUr ls lacaf/kr gS \

A. vkos'k ds B. nzO;eku ds

C. ÅtkZ ds D. laosx ds

Lenz's law is associated with the principle of conservation of

A. Charge B. mass

C. energy D. momentum

6- eqDr vkdk'k dk ijkoS|qrrk dk eku gksrk gS



A. 1.6 x 10-19c B. 9 x 1019 Nm-1

C. 8.85 x 10-12 Fm-1 D. 1.6 x 10-9c

The permittivity of free space is

A. 1.6 x 10-19c B. 9 x 1019 Nm-1

C. 8.85 x 10-12 Fm-1 D. 1.6 x 10-9c

7- 50F /kkfjrk okyk ,d la?kkfj= 10V foHko rd vkosf'kr fd;k tkrk gSA la?kkfj=

dh ÅtkZ gksxhA

A. 2.5 x 10-4J B. 2.5 x 10-3J

C. 5 x 10-2J D. 1.2 x 10-8J

A capacitor of capacitance 50F is charged with 10V. The energy

of the capacitor is?

A. 2.5 x 10-4J B. 2.5 x 10-3J

C. 5 x 10-2J D. 1.2 x 10-8J

8- oku Mh xzkQ tsujsVj ,d e'khu gS] ftlds }kjk mRiUu gksrk gS

A. mPp /kkjk B. mPp oksYVrk

C. mPp /kkjk ,oa mPp oksYVrk nksuksa D. dsoy vYi /kkjk

Van de Graff generator is a machine which genrerates

A. High Current B. High Voltage

C. High current and high voltage both D. Only Low current

9- ,d rkj esa 1A /kkjk izokfgr gks jgh gSA ;fn bysDVªkWu dk vkos'k 1.6 x 10-19C gks]



rks rkj ds fdlh dkV ls izfr lsdsUM izokfgr bysDVªkWuksa dh la[;k gS

A. 0.625 x 1013 B. 6.25 x 1018

C. 1.6 x 10-19 D. 1.6 x 1019

The current flowing through a wire is 1A. If the charge of an electron

is 1.6 x 10-19C, then the number of electrons flowing through any

section of the wire per second is

A. 0.625 x 1013 B. 6.25 x 1018

C. 1.6 x 10-19 D. 1.6 x 1019

10- Mk;useks ds dk;Z dk fl)kar vk/kkfjr gS

A. /kkjk ds Å"ek;h izHkko ij B. fo|qr&pqacdh; izsj.k ij

C. izsfjr pqEcdRo ij D. izsfjr fo|qr ij

The working principle of dynamo depends upon

A. Heating effect of current B. Electro-magnetic induction

C. Induced magnetism D. Induced electricity

11- 64 le:i cw¡ns ftuesa izR;sd dh /kkfjrk 5F gS feydj ,d cM+k cw¡n cukrh gSA cM+s

cw¡n dh /kkfjrk gksxh &

A. 4F B. 25F

C. 20F D. 164F

64 identical drops each of capacity 5F combine to form a big

drop. Capacity of the big drop will be



A. 4F B. 25F

C. 20F D. 164F

12- izdk'k ds ,d ek/;e ls nwljs ek/;e esa izos'k djus ij vpj jgrk gS

A. vko`fr B. osx

C. rjax yackbZ D. vk;ke

When light enters from one medium to another, the quantity which

remains constant is

A. Frequency B. Velocity

C. Wave length D. Amplitude

13- 5 izfrjks/k ds ,d rkj ls ftldk foHkokUrj 7 oksYV gS 20 feuV rd /kkjk izokfgr

gksrh gSA mRiUu Å"ek gksxh

A. 280 dSyksjh B. 140 dSyksjh

C. 1400 dSyksjh D. 2800 dSyksjh

A current flows in a wire of resistance 5 having potential difference

7 Volt, for 20 minutes. The heat produced will be

A. 280 Cal B. 140 Cal

C. 1400 Cal D. 2800 Cal

14- izfr?kkr dk ek=d gS

A. Egks B. vkse

C. ,fEi;j D. QSjkM



The unit of reactance is

A. mho B. ohm

C. ampere D. farad

15- ;kSfxd lw{en'khZ dh yackbZ c<+kus ij bldh vko/kZu {kerk

A. ?kVrh gS B. c<rh gS

C. 'kwU; gks tkrh gS D. ugha cnyrh gS

On increasing the length of the tube of a compound microscope its

magnifying power.

A. decreases B. increases

C. becomes zero D. does not change

16- ,d fizTe ls xqtjrh izdk'k fdj.k ds fy, vkiru dks.k I
1
] rFkk fuxZr dks.k I

2
 gSA

fdj.k esa U;wure fopyu dh fLFkfr esa gksxk

A. I
1
 = I

2
B. I

1
>I

2

C. I
1
<I

2
D. dksbZ ugha

For a light ray passing through a prism angle of incidence is I
1
 and

angle of emergence is I
2
. In case of minimum deviation of the ray.

A. I
1
 = I

2
B. I

1
>I

2

C. I
1
<I

2
D. None

17- n'kfed la[;k 25 dks f}vk/kkjh esa fy[kus ij mÙkj gksxk

A. ¼1001½
2

B. ¼11001½
2



C. ¼11101½
2

D. ¼1100½
2

The decimal number 25 in binary will be

A. ¼1001½
2

B. ¼11001½
2

C. ¼11101½
2

D. ¼1100½
2

18- ;fn ,d xksys ij vkos'k 10C gks] rks mldh lrg ij fo|`rh; ¶yDl gS

A. 36 x 10-6 Nm2/C B. 36 x 106 Nm2/C

C. 36x 10-4 Nm2/C D. 36x 104 Nm2/C

The electric flux over the surface of a sphere having charge 10C

is

A. 36 x 10-6 Nm2/C B. 36x 106 Nm2/C

C. 36 x 10-4 Nm2/C D. 36 x 104 Nm2/C

19- gkbMªkstu LisDVªe dh dkSu&lh Js.kh n'̀; Hkkx eas iM+rh gS\

A. czsdV Js.kh B. ik'pu Js.kh

C. ykbeu Js.kh D. ckej Js.kh

Which series falls in visible region of hydrogen spectrum?

A. Brackett series B. Paschen series

C. Lyman series D. Balmer series

20- izdk'k fdj.k ds rh[ks dksj ij eqM+us dh ?kVuk dks dgrs gSa

A. fooÙkZu B. /kzqou

C. vioÙkZu D. O;frdj.k



The phenomenon of bending of light ray at sharp edge is called

A. Diffraction B. Polarisation

C. Refraction D. Interference

21- uhps fn[kk;s x;s ifji; [kaM esa A rFkk B ds chp lerqY; /kkfjrk gksxh

A. 9 F B.      F

C.      F D. 1 F

The equivalent capacity between A and B of the circuit element

shown in figure below is

A. 9 F B.      F

C.      F D. 1 F

22- pqEcd dh T;kferh; yackbZ (Lg) ,oa pqEcdh; yackbZ (Lm) esa laca/k gksrk gS

A. Lm =      Lg B. Lm = Lg

C. Lm = 2Lg D. Lm =     Lg

The relationship between geometrical length (Lg) and magnetic

3F

2F

4F

A B

3F

2F

4F

A B

1
9

20
9

1
9

20
9

6
5

5
6



length (Lm) is

A. Lm =      Lg B. Lm = Lg

C. Lm = 2Lg D. Lm =     Lg

23- ikuh rFkk dk¡p dk vioÙkZukad Øe'k%     ,oa    gSA dk¡p ls ikuh esa tkrh gqbZ ,d

izdk'k fdj.k ds fy, Økafrd dks.k gksxk\

A. Sin-1(     ) B. Sin-1(     )

C. Sin-1(     ) D. Sin-1(     )

Refractive index of water and glass is      and       respectively. The

critical angle for a light ray entering from glass into water is

A. Sin-1(     ) B. Sin-1(     )

C. Sin-1(     ) D. Sin-1(     )

24- ;ax ds f}d fNnz iz;ksx esa ;fn izdk'k dk rjaxnZ/;Z nqxquk dj fn;k tk,] rks fÝt

dh pkSM+kbZ gks tk;xhA

A. cjkcj B. nqxquh

C. vk/kh D. pkSFkkbZ

In young's double slit experiment, if the wavelength of light is doubled

then fringe-width will be

A. equal B. double

C. half D. one fourth

6
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3
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3
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4
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25- ,d mÙky ysal ls 24lseh dh nwjh ij j[kh ,d oLrq dk 3 xquk vkof/kZr dkYifud

izfrfcac curk gSa ysal dh Qksdl nwjh gS \

A. 72 lseh B. 36 lseh

C. 24 lseh D. 48 lseh

A three times magnified virtual image of an object kept at a distance

of 24 cm. from a convex lens is formed. Focal length of the lens is

A. 72 cm B. 36 cm

C. 24 cm D. 48 cm

26- Js.khØe c) L-C-R ifjiFk esa vuqukn gksus ds fy, vko';d 'krZ gS

A. L = B. L = C

C. L = C D. buesaa ls dkbZ ugha

The necessary condition for resonance in L-C-R Circuit is

A. L = B. L = C

C. L = C D. None of these

27- ,d ifjiFk ds izR;korhZ /kkjk dk O;atd I=50Cos100t gSA bl izR;korhZ /kkjk

dh vkòfÙk gS

A. 100 Hz B. 50 Hz

C. 25 Hz D. 200 Hz

An alternating current in a circuit is represented by I=50Cos100t.

The frequency of alternating current is

1
C

1
C



A. 100 Hz B. 50 Hz

C. 25 Hz D. 200 Hz

28- cwLVj dk fu;e gS

A.  = Sin ip B. = Cos ip

C. = tan ip D. = tan2 ip

Brewster's law is

A.  = Sin ip B. = Cos ip

C. = tan ip D. = tan2 ip

29- &{k; mRiUu djrk gS

A. leHkkfjd B. leLFkkfud

C. vkblksVksUl D. buesa lHkh

-decay produces

A. isobars B. isotopes

C. Isotones D. All of these

30- fuEufyf[kr fo|qr pqacdh; rjaxksa esa fdldk rjaxnS/;Z lcls de gS

A. ,Dl fdj.k B. jsfM;ks rjax

C. xkek fdj.k D. Vsyhfotu rjax

Which of the following has the shortest wavelength?

A. X-rays B. Radio waves

C. -rays D. Television waves



31- Mh czksXyh rjsxnS/;Z ¼½ ,oa laosx ¼p½ ds chp laca/k gS

A.  = h + p B.  =

C. = h x p2 D.  =

The relation between de Broglie's wave length () and momentum

(p) is

A.  = h + p B.  =

C. = h x p2 D.  =

32- Vªk¡lQkWeZj dk ØksM+ curk gS

A. uje yksgk ls B. dBksj yksgk ls

C. rkck¡ ls D. tLrk ls

Core of a transformer is made of

A. Soft Iron B. Hard iron

C. Copper D. Zinc

33- fuEufyf[kr esa ls dkSu fo|qrh; {ks= ls Rofjr ugha gksrk gS

A. izksVksu B. U;wVªkWu

C. vYQk d.k D. bysDVªkWu

Which of the following is not accelerated by electric field

A. Proton B. Neutron

C. Alpha-particle D. Electron

34- nks ijek.kqvksa dh ijek.kq la[;k dk vuqikr 1 % 27 gSA mudh ukfHkdh; f=T;kvksa dk

h
p

p
h

h
p

p
h



vuqikr gS

A. 1 % 3 B. 1 % 1

C. 1 % 9 D. 1 % 23

The ratio of the atomic numbers of two atoms is 1 : 27. Ratio of

their nuclear radius is

A. 1 % 3 B. 1 % 1

C. 1 % 9 D. 1 % 23

35- Hkw&rjaxksa ds fy, vko`fÙk gksuh pkfg,

A. 0 MHz ls de B. 1500 KHz ls de

C. 105 MHz ls vf/kd D. 100 MHz ls vf/kd

Frequency range for ground wave should be

A. less than 0 MHz B. less than 1500 KHz

C. more than 105 MHz D. more than 100 MHz

36- ,d leku fo|qrh; {ks= ¼E½ esa ,d f}/kzqo dks E dh fn'kk ls  fo{ksi.k esa fd;k x;k

dk;Z gksrk gS

A. W = pE(1 - Cos) B. W = pE(1 - Sin)

C. W = pE Sec D. W = pE tan

Work done in deflecting an electric dipole through an angel prallel

to electric field E in uniform electric field (E) is

A. W = pE(1 - Cos) B. W = pE(1 - Sin)



C. W = pE Sec D. W = pE tan

37- n&Vkbi ds v/kZpkyd esa eq[; /kkjk&okgd gksrs gS

A. gksy ¼fNnz½ B. &d.k

C. bysDVªkWu D. izksVksu

The majority current-carrier in n-type semiconductor is

A. hole B. -particle

C. electron D. proton

38- fuEukafdr esa fdldh cs/ku {kerk egÙke gS \

A. x&fdj.ksa B. &fdj.ksa

C. dSFkksM fdj.ksa D. &fdj.ksa

Which of the following has maximum penetrating power?

A. X-rays B. -rays

C. Cathode rays D. -rays

39- rRo 202 x dk ,d ukfHkd igys &d.k vkSj fQj &d.k mRlftZr djrk gSA

ifj.kkeh ukfHkd dh ijek.kq la[;k gksxh

A. 82 B. 83

C. 80 D. 198

A nucleus of element 202 X first emits -particle and then -particle.

The atomic number of resultant nucleus is

A. 82 B. 83

84

84



C. 80 D. 198

40- iw.kZ rjaxh fn"Vdj.k esa ;fn fuos'k vko`fÙk 50Hz gS rks fuxZe vko`fÙk gksxh

A. 50 Hz B. 25 Hz

C. 100 Hz D. 200 Hz

In full wave rectification, if input frequency is 50Hz, then output

frequency is

A. 50 Hz B. 25 Hz

C. 100 Hz D. 200 Hz

41- fdlh ifjiFk dk izfrjks/k 12 rFkk izfrck/kk 15 gS] ifjiFk dk 'kfDr xq.kkad gksxk

A. 0-4 B. 0-8

C. 0-125 D. 1-25

The resistance and impedance of any circuit is 12 and 15

respectively. The power factor of circuit will be

A. 0-4 B. 0-8

C. 0-125 D. 1-25

42- izdk'k rjaxks ds lapj.k esa nksyu ry dh fn'kk rFkk /kzqo.k ry fn'kk ds chp dks.k

gSA

A. 00 B. 900

C. 450 D. 800

In transmission of light waves, the angle between plane of oscillation



and plane of polarisation is.

A. 00 B. 900

C. 450 D. 800

[k.M&c@SECTION-B

 xSj oLrqfu"B iz'u@Non-objective Type Questions

 y?kqmÙkjh; iz'u@Short Answer Type Questions

iz'u la[;k 1 ls 18 rd y?kqmÙkjh; gSaA fdUgha 10 iz'uksa ds mÙkj nsaA izR;sd ds fy, 2

vad fu/kkZfjr gSA (10x2=20)

Question nos. from 1 to 18 are short answer type. Answer any 10 ques-

tions. Each question carries 2 marks. (10x2=20)

1- la?kkfj= dh /kkfjrk fdu nks ckrksa ij fuHkZj djrh gS \ 1+1=2

On which two factors capacity of a condencer depends ?

2- lefoHkoh; ry ds nks xq.kksa dks fy[ksa 1+1=2

Write down two properties of equipotential surface.

3- 24F ds la?kkfj= dks 500 oksYV rd vkosf'kr djus esa fdruk dk;Z djuk iM+sxk \2

What will be work-done in charging 20F capacitor to 500 volt?

4- pqEcdh; vk?kw.kZ dh ,l- vkbZ- bdkbZ rFkk foek fy[ksaA 1+1=2

Write S.I. unit and dimension of magnetic moment.

5- 6000Å rjaxnZ/;Z okys izdk'k QksVkWu dks ÅtkZ Kkr djsaA 1+1=2

Find out the energy of photon of light of wavelength 6000Å.



6- nks ysalksa dh {kerk,¡ +12D ,oa -2D gSA bUgsa laidZ esa lek{kh; :i esa j[kus ij

la;ksx dh Qksdl nwjh fdruh gksxhA 2

The power of two lenses are +12D and -2D. They are placed in

contact on the same axes. What will be the focal length of the combination?

7- fo|qr pqEcdh; izsj.k ds ysat fu;e fy[ksaA 2

Write lenz's law of electromagnetic induction.

8- ystj fdj.kksa dh nks izeq[k fo'ks"krk,¡ fy[ksaA 1+1=2

Write down two main features of LASER rays.

9- VªkalQkeZj D;k djrk gS\ bldh n{krk ls vki D;k le>rs gSa \ 1+1=2

What is action of a transformer? What do you mean by its

efficiency.

10- ekMqyu dks ifjHkkf"kr djsaA blds izdkjksa dks fy[ksaA 1+1=2

Define modulation. Write its types.

11- izdk'k fo|qr izHkko D;k gS \ 2

What is photoelectric effect ?

12- izfrpqEcdh; ,oa vuqpqEcdh; inkFkksZa esa nks varj crkosaA 1+1=2

Write down two differences between diamagnetic and

paramagmnetic materials.

13- ijek.kq ds cksj ekWMy dh dfe;ksa dk mYys[k djsaA 2

Discuss shortmings of Bohr model of atom.

14- fdl fLFkfr esa ,d le:i pqEcdh; {ks= esa xfr'khy vkos'k ij yxus okyk cy



U;wure gksxk\ 2

On which condition, force acting on a moving charge in uniform

magnetic field will be minimum ?

15- ,d izR;korhZ /kkjk ifjiFk esa foHkokUrj dk oxZ ek/; ewy eku 1002 gSA foHkokUrj

dk f'k[kj eku ,oa iwjs pØ ds fy, foHkokUrj dk vkSlr eku Kkr djsA 2

The root mean square value of potential difference of an alternating

current in a circuit is 1002 volt. Find out peak value of potential

difference and average value of potential difference over a full cycle.

16- nwjn'kZu dsUnz ls izlkfjr gksus okys 500MHz ds rjax dh rjaxnZ/;Z D;k gksxh \  2

What will be the wavelength for transmission of 500 MHz wave from

a television centre?

17- ^js[kh; /kzqfor izdk'k* dh ifjHkk"kk dhft,A   2

Define linearly polarised light.

18- QkVks Mk;ksM ds nks mi;ksx crkb;sA 1+1=2

Write down two applications of Photo diode.

nh?kZmÙkjh; iz'u@Long Answer Type Questions

iz'u la[;k 19 ls 24 rd nh?kZ mÙkjh; iz'u gSaA izR;sd iz'u ds fy, 5 vad fu/kkZfjr gSaA

fdUgha 3 iz'uksa dk mÙkj nsaA (3 x 5 = 15)

Question nos. 19 to 24 are long answer type questions. Each question

carries 5 marks. Answer any 3 question. (3 x 5 = 15)



19. ,d lekukUrj ifV~Vdk la?kkfj= dh fo|qr /kkfjrk Kkr djsa ;fn ,d ijkoS|`r

inkFkZ dh iV~Vh IysVks ds chp Hkjh gSA 5

Derive an expression for capacitance of a paralled plate capacitor

when a dielectric is completely filled between the plates.

20. fdlh irys ysal ds fy, lw=         = (- 1) (     -     ) LFkkfir djsaA 5

Establish the formula         = (- 1) (     -     ) for a thin lens.

21. izdk'k ds O;frdj.k dh ifjHkk"kk nsaA ;ax ds f}d fNnz iz;ksx esa fÝt dh pkSM+kbZ ds

fy, O;atd izkIr djsaA 1+4=5

Define interference of light. Derive an expression for fringe-width

in Young's double slit experiment.

22. ,d òÙkkdkj /kkjkokgh dq.Myh ds v{k ij ds fdlh fcUnq ij pqEcdh; {ks= dk O;atd

izkIr djsaA 5

Find an expression for the magnetic field at a point on the axis of a

circular coil due to a current flowing in it.

23. cksj ds fl)kar ds vfHkx`ghrksa dks fy[ksaA cksj ds fl)kar ij gkbMªkstu LisDVªe dh

O;k[;k djsaA 5

Write postulates of Bohr's theory. Explain hydrogen spectrum on

the basis of Bohr's theory.

24. ,d Vh0 oh0 Vkoj dh Å¡pkbZ 235 ehVj gSA ;fn Vkoj ds vkl&ikl vkSlr tula[;k

?kuRo 1000 ¼fdeh½&2 gks rks Vh0 oh0 izlkj.k fdrus O;fDr;ksa rd igq¡psxk \
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¼i`Foh dh f=T;k ¾ 6-37 x 106 eh½ 5

The height of a TV tower is 235m. If the average population density

around TV tower is 1000 (KM)-2 then up to how many people can

the transmission reach ?

(Radius of the earth = 6.37 x 106m)


